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3x5 Clustering, 5 deg
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3x5 Clustering, 10 deg
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3x5 Clustering, 15 deg
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3x5 Clustering, 20 deg
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3x5 Clustering, 25 deg
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3x5 Clustering, 5 deg
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3x5 Clustering, 10 deg
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3x5 Clustering, 15 deg
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3x5 Clustering, 20 deg
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3x5 Clustering, 25 deg
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sinBsing

x5 Clustering, 0 deg
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3x5 Clustering Angle estimation

« 3.5~4 degree angular resolution (Std. Dev.)
* When we know exact starting point (~2 deg resolution)

« Next : Two gamma (p10 reconstruction) ??
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3x3 Clustering

O

O

D
(@

< 1E = 1 < 1
£ a £ a = a
2 osfF 180 2 08 100 2 osfF 180
k= E £ - £ o
[ - @ - 140 @ -
06 160 06 06 160
C . 0 : 5 deg C C
= ¢ : 135 deg 140 04 120 = 140
02 120 02 100 02 120
o] == 100 o] = (o = 100
= - C 80 C
-02F 80 -02F -02F 80
C = C 60 C
-04= 60 -04= -04= 60
= = 40 =
-06f 40 -06f -06f 40
0.8 20 0.8 20 -0.8fF 20
-1 0. 70 -1 0. 70 -1 0. 70
sin Bcos ¢ sin 6¢cos ¢ sin 6¢cos ¢
= 1 < 1
£ = 160 c - 180
2 08 2 08 160
% F 140 s F
0.6 0.6
- 0 :5deg - 140
04 = ¢ : 180 deg 120 0.4
= = 120
02 100 02
= - - 100
(0 o L] 30 () o
= o 80
02 02
s 60 F 60
-04F -04F
= 40 :
-06fF- -0.6 - 40
-08fF 20 -08fF 20
-1¥~ 08 06 04 02 0 02 04 06 08 10 -1y~ 08 06 04 02 0 02 04 06 08 10
sin 6cos ¢ sin 6cos ¢
< 1E < 1 < 1€
£ - £ - = -
2 08 — 140 2 08 — 140 2 08 —
£ - £ - c =
Y] = Y] = Y] =
o 120 o 120 =
04E 04 04
= 100 o 100 o
0.2 — 0.2 — 0.2 —
o~ 80 o~ 80 o~
-0.2— 60 -0.2— 60 -0.2—
04 04 04
E 40 E 40 E
-0.6 - -06 - -0.6 -
-08F 2 -08F 20 -08F
-1 : : : R 7 S YR ¥ S -13 : : : T -13 : ; : PR T

sin 6cos ¢ sin 6cos ¢ sin 6cos ¢



3x3 Clustering
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3x3 Clustering
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3x3 Clustering, 25 deg
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Find a front side X,y position distribution
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